GENR

0000 =000 ;
GENR (SILENT,STATIC) 0000 =000 ;
GENR (SILENT,STATIC) 0000 [0000];

og .

GENROOOOOODOOODDOOO0O0O0OO0OO0O0O SMPLOOOOOO,0000000000000
00000000. 000000000 TSPO0OOOOOO0,00000000000000. TSP O
000 FRML, EQSUB, IDENT, FORM, 000 DIFFER 0000000000000 O0.

goo:

000200 GENROOOUOOOOOOOOO. GENROOOOOOOOOO,00(=),000000
gooooooooo0ooO0obDbOoboOooco0oO0oo TSPOCOOOOOOODOOOOODODOOROO
0.0000 GENRODOOOODOOOODODOOOO.DOOO0OOOOODODOOOOOO TSPOOO,
oo(TspoO0oO0OO00O0O0OOCOODOOOOOO)ODO0OOOOOODOOOUDODOOOO.

03000000 GENRODODO,LSQO FIMLOOOOOOOOOOOOOOOoOoooooooooo
0.000000 GENROOOOOOGOO,00obOob0b00oDbDOobobO0ob0goooboboobooboo. go
oooooo00o0ooo0ogO0gog,GENRODOOOOODODOOOODOOOODOOOOOODODOO
oo00oo0oo.oooooooooOoO0O0OOoO0,000o0o0o000 GENROOOOOOooooooo
gooooobooog.

00 GENROOOOOODOOOOOooooooo,000opboooooboooobooobpooo,ogooo
0000000000000000000000000 (D000 MISS)ODODODOOODOOOOOOOO
000000 000) 000000000000 U00UD0. U000, 00000 @MVAL @MISS @NA
eMvOOoOoOoooooooooo.

0000000O0000000,00000000000000000000000000000000
000000.00000, dynamic(0000)GENR 000000000000000. 00000 4.1
000 TSPOO,0000000000000000O0O0O0O0D.000000000000000 SET
00000000000000.000,U=RHO*U(-1)+E; 000 AR(1)0D0UDOOOOOOOO.
00 XO0O0O0000,X(-)00X()000/00000000000. 00000000, (00000
COEF(1)0000)000000000000000000000. X(76:2)00 M(1,2)0000000
0000000000000000000.

goooOgde:

SILENT/NOSILENT ”dynamic GENR’O 000000000 O0O. O0O00O0O0OO0OO0OO0OOOOO
obooooooo.

STATIC/NOSTATIC DO 000000 O0OU0ODO0O0O0O0OOOUOODO00D0O0OOODOOUOoUoOOO.
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GENR

GNPL1=GNP(-1) ;
GENR DP=L0G(PRICE/PRICE(-1));
GENR WAVE=GAMMA*SIN (TREND) ;

DUM=X > O;

00000000,X000000010000000000000((@0 000000 10000000),
ooooooonoooo.

SCLEVEL=1%(SC <=6) + 2*(SC > 6 & SC <= 9) + 3%(SC > 9 & SC <= 12) + 4x(SC > 12) ;

oo0o00ooo,SCLEVELO,SCOO0000000000 1,23400000000000(000000O
00o0o0oooooooooooo).

GENR CONSEQ CONFIT;
GENR IDENT12;

0020000000000000000000000. 010000 (FRMLOIDENTO)OOOOO
0oo0o,0000(FORMOCOO0)0D0U0DOCOOOOUOOOOOUOUDODOUOUOOO. 020000
uboboooooooboo,boboooobooob. oooo,bbooo0obobOoo0ooboooooooon
goo,00bo0bobooooon.

SMPL 1,10;

A=1; B=1;

SMPL 2,10;

GENR A=A(-1)+1;

GENR (STATIC) B=B(-1)+1;

000000,AD00000000 (0000 TREND A;0000000000)00000,BO 1,2,
2,2,2,2,2,2,2,2,200000.

gooooo:

GENROOOOOOOOOOOOO.GENROOODOOO,00C000000DOO0O0O0DOOCOOODOO
gooboo.
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